Series SR5QP/5

Set-2
A 59/5/2

e . wlegrefl TH-TF HIE P IW-GETHT h
Roll No. TE-I8 T 379y ford |
Candidates must write the Q.P. Code
EE on the title page of the answer-book.
[=];’
POLITICAL SCIENCE
frafRa @& : 3 gv2 ST 5% : 80
Time allowed : 3 hours Maximum Marks : 80
L1 NOTE
() o1 9 B o 6 39 T-9F 4 gfgd | (I) Please check that this question
Tss 23 8 | paper contains 23 printed pages.
(II) <puan S o Toh 39 TH-93 0 30 9 | (II) Please check that this question
2 paper contains 30 questions.

(I11) I39-951 ¥ eIt 81 <hl 311 feu Tu g99-
9F hIg I gliarell IT-gfedet % q@-

(IIT) Q.P. Code given on the right hand
side of the question paper should

S be written on the title page of the
K ferd | answer-book by the candidate.
(IV) 9T Y97 T IR {oFEd1 T€ & & Ugd, | (IV) Please write down the serial

IR 7 T T shHIh e foerd |

number of the question in the
answer-book before attempting
it.

(V) 39 J3-U3 &l Ygd & T 15 fime &1
o fezmn T 7 | 9w -v T T gute
T 10.15 s fopam S@m | 10.15 S99 &
10.30 & b qderefi haet J9-I i
T 3R 3G 3T o SH o ITR-Yfedeht
T hTE I 78! fera@ |

2259/5/2 AP 1

(V) 15 minute time has been allotted
to read this question paper. The
question paper will be distributed
at 10.15 a.m. From 10.15 a.m. to
10.30 a.m., the candidates will
read the question paper only and
will not write any answer on the
answer-book during this period.

P.T.O.



= A
fFreferfea fwt =t e wfew si 37et arem Hifse -

(i) 3TFT-97 530 357 & | Gt 397 3741 & |

(ii) ¥oT-97qia @S] 4 f[A9If5ia 8 — @S &, &, T, T0a & /

(iil) @US-%F : Fo7 G&IT1 T 12 7% TgldhcH1 YhR & 597 & | Feieh Fo7 1 36 HT1 3 |

(iv) GUE-T : J97 G 13 & 18 7% o7 IT0T YR & 97 & | Yo% J97 2 371 FT & |

eI 9T HT IR 50 G 60 Fsw! 7 17kaT |

(v) GUE-T : F97 G&T 19 @ 23 & 3709 Fob/ —1 & 97 & | Ik Jo7 4 FHebl &7 & |

Jeh Y97 HT T/ 100 & 120 F5e] 5 foifgw |

(vi) GUE-Y : o7 G&IT 24 T 26 3771, HIZT T THIT ITETRT 97 & | §edF Jo7 BT I
TEIFER IeTRETE |

(vii) GUE — & : Jo7 G&IT 27 & 30 1 e I FHR~I1 & 797 & | 0% J97 6 37 7
& | J% T HTFR170 & 180 v1551 § 107197 |

(viii) ¥97 97 H HI5 GHI 19549 781 8 | TeT Fes Jo71 7 AR faeeq H1 JIae 1327 T
& | 57 591 H & 3T T &1 597 1 I [e7al 7Y |

(ix) 5% TR, &1 & 13 FIRanferT qhamfri & 1o7g Biet @< Fr1=r7 31e Sremia 7o41
& T T T 37T 97 1697 7377 & | 37 59 @ IR baT gIvanfea gieref & 17 |

2259/5/2 2



GENERAL INSTRUCTIONS :

Read the following instructions carefully and follow them :

(t)

(i)

(iii)

(iv)

)

(vi)

(vii)

(viii)

(ix)
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This question paper contains 30 questions. All questions are

compulsory.

Question paper is divided into FIVE SECTIONS - Section A, B, C, D
& E.

Section A — question number 1 to 12 are multiple choice type questions.

Each question carries 1 mark.

Section B — question number 13 to 18 are Short Answer type questions.
Each question carries 2 marks. Write answer to each question in
50 to 60 words.

Section C - question number 19 to 23 are Long Answer type-1
questions. Each question carries 4 marks. Write answer to each question

in 100 to 120 words.

Section D — question number 24 to 26 are passage, cartoon and Map-

based questions. Answer each question accordingly.

Section E — question number 27 to 30 are Long Answer type-II
questions. Each question carries 6 marks. Write answer to each question

in 170 to 180 words.

There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such
questions has to be attempted.

In addition to this, NOTE that a separate question has been provided for
Visually Impaired candidates in lieu of questions having visual inputs,
Map etc. Such questions are to be attempted by Visually Impaired

candidates only.

3 P.T.O.



gug —<h

T T 1/ 12 T Sgfeshedis TR 1 37 & T & | 12x1=12
1. TAfaRad gemsli o FIRAHTHR Saied HhitT 3R 3T % €9 H T3 faehed &1 g9
HIfT : 1

(i) v gt Rrer-awed

(i) YA R FAIET TETehicl T FEATER
(iii) ol EReToT Iferfem

(iv) ITCTEhICehT TATEIT TTelehict

A) (@), (iii), (D), (iv) B) (), (dv), (i), ()
(C) (@), (@), (iid), (11) D) (@), @), (i), (iii)
2. WA o AT TN & T YT el TR 1 a4 TR T it 1

(A) & Sgd YU B TR AT |

(B) g forpma sl 78 IR ST TTHAT i T STITERTER BT ST T&T T |
(C) ¥8 Il TE W THSES! Hiset I SETia o |

(D) s TT IISHT AN 6 9T H T8l o |

3. FE-1GEH-I1 8 98t faerH hifere 1
gHi-1 -1
(a) cfeqor uRMTE & 1 319 sreleraet &l Ser s (i) | HrerdrE
EISIRESIE
(b) Wﬁw%ﬁﬁwwwmlma—s@ (i) | WRd
RIS 3 |
(¢) | T & el | ferr v m (iii) | TfeREdT
(d) | BT 3R SAlehca gl Tl o Ste WY U, $9 | (jy) | A9
91 3 1 Al T @ |
Hﬁﬁwgﬁq:

@ (b)) (o (d

A @@y @ @ @)

B) @) @ Gy @)

© @ @ @) (i

D) Gv) G @) @
2259/5/2 4



SECTION - A

Question No. 1 to 12 are Multiple Choice type questions carrying

1 mark each.

12x1=12

1. Arrange the following events in chronological order and choose the correct
option as answer :

(1)
(i1)
(111)
(iv)
(A)
(©)

First Earth Summit

India Signed Kyoto Protocol
The Energy Conservation Act
Antarctic Environmental Protocol
(1), (111), (1), (v)
@1v), (1), (111), (11)

(B) (1), (v), i), @)
D) @), @), (1), (11)

2. Planning Commission of India was replaced with NITI Aayog because

(A)

(B)

(©)
D)

it had become very old.
it was becoming
development.

it was totally based on Socialist model.
many states were not in favour of Planning Commission.

3. Match the List-I with the List-II correctly :

irrelevant to face the new challenges of

the pro-democracy groups, the military
had prevailed over democracy in this
country.

List-1 List-T1
(a) | The first country to liberalise its | (1) | Maldives
economy in the South Asian region.
(b) | Earlier this country had the Sultan as its | (i1)) | India
Head of State. Now, it is a republic.
(¢) | A land locked country. (111) | Pakistan
(d) | In the conflict between the military and | (iv) | Nepal

Choose the correct option :

(A)
(B)
(©)
D)
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4. Trafeafed § 3 wie Rft F o T pR A FeA adi & 2
() %9 % g ¥ fiwree 3178 |
(i) wTeh ST I GShraTe ! Hereq foham |
(iil) 3H TEG3T Y Hat 1w fea |

(iv) g HHTISTh hedToT JuTTeil o 9&t | off |
(A) (1) 3 (i) (B) (i) 3R (iii)
() (@), (i) 3R (i) (D) (@), (iii) 3R (iv)

5.  Topa e 3 aiferra ga 3 wrerae % 3id o Fafa fomar 2
(A) e frrETeet Hehe
(B) % forver sware 1 3¢9
(C) iferra Ter o1 faered
(D) TRl sTeieeen 4 gfg

6. i feu T T3 T <1 HHT h ShEST: IR (A) 7T HRUT (R) o &9 H Afhd feram T
2 | ST &9 T T frehe &1 =1 IR |

ANTHLA (A) : T T fTereh ST T ElaT &R |

FHROT (R) : 9T o G99 G § S 14 sl 710 § AR HH 8 @ g |

Torepeq -

(A) 3NMUH (A) 3T HR (R) THI &l & 3T HRT (R) A6 (A) 1 a0t = 2 |

(B) 3AfHeH (A) 3R HROT (R) GHI Hal 8, T BT (R) AU (A) i F& ST
TS|

(C) 3feher (A) W&l B, wifeh ST (R) Toid & |

(D) 3rf¥ehed (A) TeTd B, ifehd 0T (R) Tl & |
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4.  Which of the following statements in the context of shock therapy are

correct ? 1
(1) The value of Ruble declined.

(11) Shock therapy strengthened capitalism.

(111) It reduced the prices of goods.

(iv) It was in favour of social welfare system.

(A) (1) and (11) (B) (11) and (ii1)
(©) (), 1) and (111) (D) (@), (111) and (iv)
5.  Which event marked the end of Communism in the Soviet Union ? 1

(A) Cuban Missile Crisis
(B) Rise of New World Order
(C) Disintegration of the Soviet Union

(D) Rise in US economy

6. In the following question, a statement of Assertion (A) is followed by a
statement of Reason (R). Choose the correct option as answer. 1

Assertion (A) : Presently the global atmosphere is warming up.

Reason (R) : A steady decline in the total amount of Ozone in the earth’s
stratosphere.

Options:

(A) Both the Assertion (A) and the Reason (R) are correct, and the
Reason (R) 1s the correct explanation of the Assertion (A).

(B) Both the Assertion (A) and the Reason (R) are correct, but the
Reason (R) is not the correct explanation of the Assertion (A).

(C) The Assertion (A) is correct, but the Reason (R) is incorrect.
(D) The Assertion (A) is incorrect, but the Reason (R) is correct.
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7. A 3E @H - YTRREIT T TRTH el HHTAT ?
(A) TTIRETH ! TodadT % TG
(B) Hfau™ ol STHH % TG
(C) YT TATE o dTg
(D) ATGRT Fehe % TG

8. 38 Uy %1 A foifau fa 9 weftarre <1 s o |
(A) IR (B) fagw
(C) F@vs (D) HEF Y

9.  gfeu meft A 37U FHRIb H s AR 6 3esTa 6t | Fefafea @ @ wm @t Aifa sTeh
Fiferrt = e 7 oft ?
(A) Treft e <t e (B) Sehi =1 UFEeRTOl
(C) THTY Jrstt ST ST 7 AT (D) 9 gur

10. = feu 7T ye 1 < HUE1 Bl HE: IR (A) 9T ST (R) o &9 H 3iferd fomam man
2 | ST &9 § Tl forehed o1 =1 hifSw |

AR (A) : TG | =Y 3 FATE & Tgel, AR A v g3ii ohi il § i,
QAT <h! SHHT TUT ST 55 SUSIT o foeg STaeH I& ot iU |

HROT (R) : A < AT, ST F@T, Tt ! IgEr § firrae qen nvfit @ e
J guE Ye < |

Terspem -

(A) 3R (A) 3T HRT (R) GHI H&! 2 IR HR (R) AR (A) i & AR |

(B) 31T (A) 3R R (R) ST TET 8, T BRI (R) 3ATMHUA (A) hi HE ST
TE D |

(C) 3fiheM (A) W& 8, WifehT SR (R) 7oA 2 |

(D) 3f¥ehe (A) e B, wifeh RV (R) &2 |
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7. When did General Ayub Khan take over the administration of Pakistan ? 1
(A) After the independence of Pakistan
(B) After the adoption of the constitution
(C) After the first election
(D) After Bangladesh Crisis

8. Name the state from which Chhattisgarh was carved out. 1
(A) Uttar Pradesh (B) Bihar
(C) dJharkhand (D) Madhya Pradesh

9. Indira Gandhi initiated many policies under her leadership. Which one

among the following was not a part of her policies ? 1
(A) Abolition of privy purses (B) Nationalisation of banks
(C) No use of nuclear power (D) Land reforms

10. In the following question, a statement of Assertion (A) is followed by a
statement of Reason (R). Choose the correct option as answer. 1

Assertion (A) : People started protesting against the increase in prices of
essential commodities, food scarcity and growing unemployment before
the fourth General elections in India.

Reason (R) : Failure of monsoons, widespread drought, decline in
agricultural production and serious food shortage caused the problem.

Options:

(A) Both the Assertion (A) and the Reason (R) are correct and the
Reason (R) is the correct explanation of the Assertion (A).

(B) Both the Assertion (A) and the Reason (R) are correct, but the
Reason (R) is not the correct explanation of the Assertion (A).

(C) The Assertion (A) 1s correct, but the Reason (R) is incorrect.

(D) The Assertion (A) 1s incorrect, but the Reason (R) is correct.

2259/5/2 9 P.T.O.



11.

12.

13.

14.

15.

16.

17.

18.

TN o Steh UYETd WA o [Nferd forehre o fete fferfea o & ferwmeht e foham o

o ? 1
(A) Tratem smm (B) ST 3T
(C) 3IE T (D) Hifa smm

frfafea o & wra &t S T v <Hf femea 3 3wstd § aRd T9 5 e g

Ty fepam o 2 1
(A) eI (B) &aeTq
(C) L (D) TEferX

TUE -9 6x2=12
3 TR <1 QYT § S o IS &l 30T YIS | 2
T4 ! TR o his &l TATH T8 HIfIT | 2

T ¢ WRA ! T TY GLETT TN B TATS TSI & &9 H Mftret i 1 fotie hid 8 |
34 forier o IS g1 R T HIfT | 2

TATERT 3TR ki HETEHT o e, foava Tarfifa o1 fewen =i 57 T E ¢ foRedl &1 i
o1 fergeiyor SHif | 2

YA A § |1 B1e T o frmior & fehegi Q1 shont w1 fergermor shifsre | 2

YT o TSiTceh 3T AT Sfam § oy 1967 1 Teh Tgcaqul 9STd WA o IS &1 HRUT

oy HifT | 2
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11. Which one of the following was formed for the planned development of

India, just after independence ? 1
(A) Election Commission (B) Planning Commission
(C) Shah Commission (D) NITI Aayog

12. Which one of the following Princely States of India initially opposed

joining the Indian Union ? 1
(A) Baroda (B) Hyderabad
(C) Mysore (D) Gwalior
SECTION - B 6x2=12
13. Suggest any two measures to protect your surroundings from pollution. 2
14. Explain any two advantages of Coalition governments. 2

15. Some countries oppose India’s inclusion as a permanent member of the
UN Security Council. Explain any two reasons for this opposition. 2

16. Analyse any two reasons as to why issues of environment and natural
resources have become a part of the World Politics. 2

17. Analyse any two reasons for the creation of seven small states in North-East
India. 2

18. Explain any two reasons to consider the year 1967 as a landmark year in
India’s political and electoral history. 2

2259/5/2 11 P.T.O.



Qg -1 5x4=20

19. SYlTohTuT o Ui oh his TR ST TIF HIfST | 4

20. WA <h! TIAdT o THI U oot YR H fore™ aes o e fafaesra 1 afed sreamsha <1 9uie
Hifee | 4

21. (a) “YRA ¥ Hifaad 99 o faeed o ¢ ufi 7 T < & 1Y 3= G99 §90 W ©
AfeR T 3R YA o ot gy anft of gew sifees SRl § 17 fhi o1 3eren
<! TETIdT & 39 H ol =ATFET 38U | 4

YT

(b) fid Jg FTa & TRA, MR IR fova & 3= Tl <t qern o SAfees
foepflra oft | fobe oft Tiferra womeft § o UEt foemard off, St 38 stdet O 3te
HcHt & | Tt foheal G forIvanati o1 geehd shifse | 4

22. WRAH 1980 H T HLATETY FHTET o fehegl =R TRUTHT <1 ITFR HIFAT | 4

23. (a) UIRAEAM § ThSl AAlhad TG i B 3773 fohegl Q1 Y@ I <t =men

HfT | 4
o
(b)  “ETeh 3 gfeqr URRmETS S i wguefi wreri o aiem & wedn faehiia i 6 aE
TEA 1 & |7 T IETET ST 36 HU T AT 80 | 4
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SECTION - C 5x4=20

19. Explain any four reasons for resistance to globalisation. 4

20. Describe the events that took place in Sikkim from the time of India’s

independence to its merger with India. 4

21. (a)

(b)

“After the disintegration of Soviet Union, India has maintained good
relations with all the new independent countries, but the most cordial
relations are still there between Russia and India.” Justify the

statement with two examples. 4
OR

During Cold War period the US economy was more developed than
the rest of the world. Still the Soviet system had some special
features which distinguish it from the US. Evaluate any two such

features. 4

22. Highlight any four outcomes of the mid-term elections of 1980 in India. 4

23. (a)

(b)

2259/5/2

Explain any two main challenges faced by Pakistan in establishing a

successful democracy. 4
OR

“SAARC has taken a major regional initiative in South Asian States
to evolve co-operation through multilateral means.” Justify the

statement with two examples. 4

13 P.T.O.
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LCRCERR)

3x4=12
24, mmw%mﬁ%%@ aHfeE b, HRIIWH%(A) (B), (C)W(D)gmm

3T~

TToh TE! A9, JIN <hl TS SR shl shH T&AT a1 A 1 feu e wefiq amaﬁﬁq

WW%WW:

4x1=4

TN <h1 T8 TR <hl 561
T

AT & Geie 31ER

USY 1 AMH

(1)

(i1)

(iii)

(iv)

(i) o8 TSI el 3. TH.TH. eI g T8et! TR-hiEIE! TXehT T TS fehdll T o |

(i) YR S % TEATIh YT JETE J&si J Faied T |

(iii) 8 T Forent Hag qd TeHmE STATetee 48€ 9 o |
(iv) T9 ey B TSpAR 3Td SR & §aied T |
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alphabets shown in the map as per the format that follows :

SECTION - D

3x4=12

24. In the given Political outline map of India, four states have been marked as
(A), (B), (C) and (D). Identify these states on the basis of the information
given below and write their correct names in your answer book along with
the respective serial numbers of the information used and the concerned
4x1=4

Sr. Number of the
information used

Alphabet
concerned

Name of the
State

(1)

(i1)

(iid)

(iv)

(1) The state where the first non-Congress government was formed by

E.M.S. Namboodiripad.

(11) The state that belongs to Syama Prasad Mookerjee, founder of

Bharatiya Jana Sangh.

(111) The state to which former Prime Minister Jawaharlal Nehru belonged.

(iv) The state related to former Health Minister Rajkumari Amrit Kaur.

2259/5/2
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(24.1)

(24.2)

(24.3)

(24.4)

Frefafaa we7 et gfeentia qhenii + foe, o w@ 24 & =R W

g1 4x1=4

38 s 1 A fafae sref 3. wd. Teediune g veel! - TR

T34 T T o |

R o 9 I Fatem stger o1 m forfe |

A WRA 6 qd YW WA TR S g T1ied UsHiTde &t ol AT
fafte |
YR 3hi 6 TaTE ol TSIBANT 3TA R § HEfYd s 1 A fIRa |

25. ez T A S 2006 T FIRFA G IS U T 1T SATSHAY & TEaf-2rd g | Sl ol
ST ST Hieh ol U TT Je7 o I €T

(a) hred H fe@me U IR @M’ (S fagT) % STER W HrEf=d TS 1 UgeH

3ueh! A Tl | 1
(b) red H e 7T =fda 1 TE=H X 31 AW fAfEn | 1
(c) SSRII 3 WIS U JTehHUT T foha T ? 2

2259/5/2
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Note: The following questions are for the Visually Impaired

Candidates only in lieu of Q. No. 24. 4x1=4

(24.1) Name the state where the first non-Congress government was

formed by E.M.S. Namboodiripad.
(24.2) Who was the first Chief Election Commissioner of India ?

(24.3) Name the political party formed by the former first Indian

Governor General of independent India.

(24.4) Name the state which is related to Rajkumari Amrit Kaur, the

former Health Minister of India.

25. The given cartoon is related to Israel’s attack on Lebanon in June 2006.

Study the cartoon carefully and answer the questions given below :

(a) Identify and name the organisation whose four Logos are shown in

the cartoon. 1
(b) Identify and name the person shown in the cartoon. 1
(c) Why did Israel attack Lebanon ? 2

2259/5/2 17 P.T.O.



FrefafRaa we7 et gfeentia qhenRi + foe, wov w@ 25 & &M W

g1 4x1=4
(25.1)  gHE® (UNICEF) %1 faeqa &9 feafau |
(25.2) I G TS T 3ATh AT T STUTAHR &1 ?
(25.3)  TIF TY o AT T Fehe <11 3 gamer fopw & 2
(25.4)  TFF Y I S H Tl TET0] Fenfieht S gren 3R wfaqel T 8
efa g ?
26. I feu MU STaaur T 3T hHifsTe 3T feu U gl & ST N 4x1=4

YA o BI-a¢ A= 3TN & <21 H 6 M hl GUTeHT o foeg HANH TEHR A
S T IR | GeaTd i IR TE i o 39 el 1 foty fopam | gfeem fim
ST AT AT T3h ToraTST sl 319+ BmSH <1 Tt g o fotw B1e fean s =nfaw | warst
% I ol TAH-FHSH T TGR ued - Ufearies yfient s 3 tfispat warei &1
3B A I8 § IS 2 o foTe Tt L for |

(26.1)

2259/5/2

1947 4 ferfew sfogan & fawrs & v fopm Rrgra w1 wter foparm o 2
(A) T e w5 g

(B) ST %=1 1 g

(C) =nfiieh sgere 1 g

(D) Tl 1 fg@
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Note: The following questions are for the Visually Impaired

Candidates only in lieu of Q. No. 25. 4x1=4

(25.1) Write full form of UNICEF.

(25.2) Which organisation became the successor of League of Nations ?

(25.3) How many states signed the United Nations Charter ?

(25.4) Which U.N. agency is concerned with the safety and peaceful

use of nuclear technology ?

26. Read the passage given below and answer the questions that follow: 4x1=4

The interim government took a firm stance against the possible
division of India into small principalities of different sizes. The Muslim
League opposed the Indian National Congress and took the view that the
States should be free to adopt any course they liked. Sardar Patel played a
historic role in negotiating with the rulers of princely states firmly but

diplomatically and bringing most of them into the Indian Union.

(26.1) Which principle was followed for the division of British India at
the time of partition in 1947 ?

(A) Principle of administrative control
(B) Principle of ethnic composition
(C) Principle of religious majorities

(D) Principle of equality

2259/5/2 19 P.T.O.



(26.2)  TAH YRA o TUH 3U-TEHHHA DI & ?

(A) ST &ft.3AR. g (B) TR YA

(C) &t T (D) WM 37egH THFAR @H
(26.3)  TECAAT o HY TerfeeT sfugan H fopat <t femd off 2

(A) 556 (B) 566

(C) 655 (D) 565

(26.4)  <Hi fEmEdl & SR H 370 T 9 91 HYT Teid & ?
(A) YRA GLhR HB A1 ol WRAT ¢ o folt aam of |

(B) SITTE o STTE%h - T0H W 1 68T S 1 BT fhalT T |
(C) <H famd fafesr W g & U fagrs v 8 srm of |
D) T Tamed oI §9 9 9T T 1 feedn s=a1 argad of |

gig - ¢ 4%x6=24

27. (a) YRd I T, ATdHaE R TEMER 0 Tall & e & U 1 T U™ A

RN 7 HiE fi7 YT Gy | 6
XIOE])
(b) “TEANT YHHITh Y& Tl Ueh HecaqUl e & |7 Tohegl o qehl g e <l gfY
HIT | 6

28. (a) 20d Tl o 3ifay gk & A IR T § afed ol 9 Sg@ Tt o
oY HIfT | 6

JAYAT

(b) 1989 % e e St 3iv 58 Tt 3 e, it gt TwRt 3T wER
ol i gt 1 e v | 6

2259/5/2 20



(26.2) Who was the first Deputy Prime Minister of free India ?

(A) Dr. B.R. Ambedkar (B) Sardar Patel
(C) V.K. Menon (D) Khan Abdul Gaffar Khan
(26.3) How many princely states were there in British India at the time

of independence ?
(A) 556 (B) 566
(C) 655 (D) 565

(26.4) Which of the following statements about the princely states is

27. (a)
(b)
28 (a)
(b)

2259/5/2

NOT correct ?

(A) The Indian government was ready to give autonomy to
some regions.

(B) The ruler of Junagadh had decided to be part of
independent India.

(C) Princely states covered one third of the land area of British
Indian empire.

(D) Some of the princely states clearly wanted to become part

of the Indian Union.

SECTION - E 4x6=24
Suggest any three measures that India should adopt to fight the
threats like poverty, terrorism and epidemics. 6
OR

“Co-operation is an important component of traditional security.”

Justify the statement with any three arguments. 6

Explain any three major developments which took place in Indian

politics during the last decade of the 20t century. 6
OR

In the midst of severe competition and many conflicts after 1989, a
consensus appeared to have emerged among most parties. Explain

any three points of consensus. 6
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29. (a) “T9aF WRA i foew Hifa 7 wmfayet fava o 9= 1 TR HE H1 7= Thr g 17
39 HYU o U&7 T B3 i IUIH b I |
HeET

(b) “ara fasiafresfienor St ufshar 1 T Yoo aaee 3 T1ig & Hifd &1 Het
forieft W1 8 17 39 YA o U B g i IUFHR deh ST |

30. (a) <Y rEEAT H ACh YR & FAaSg, o o At AR bl 379 IR 61 A FAF
& firet w7 18 i s fafaw |
YT

(b) IAH T 1, Teh ATk TEAM ITehl T H TEoIoht TUHIR TS Teh
TS S =h! ITshAT 19U HINTT |
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29. (a) “The foreign policy of independent India has pursued the dream of a
peaceful world.” Support the statement with any three suitable

arguments. 6

OR

(b) “India was a staunch supporter of the decolonization process and
firmly opposed racism.” Support the statement with any three

suitable arguments. 6

30. (a) While the Chinese economy has improved dramatically, why has
everyone in China not received the benefits of the reforms ? State

any three reasons. 6
OR

(b) Describe the process of evolution of the European Union from an

Economic Union to an increasingly Political one. 6
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